H £ 0l & AF & S

Al A

FA: 2eMS
3. sz (2L 2Z/280=)
telr 23tz &S (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
St 23,777,426 23,910,293 A132,867
= 494,900
Jl 3,171,171
= 935,221
Al 19,176,134
23z ME(SSL2R/25 =) 7,529,746 6,877,686 652,060
7l 653,791
= 128,412
Al 6,747,543
23z &S 5,786,312 5,199,686 586,626
Il 653,791
= 128,412
Al 5,004,109
stz & 117,700 137,000 19,300
201 er2 3| 35,200 111,000 AT75,800
01 AtR2te|HI 15,200 91,000 AT75,800
ogegt+=ZHI 10,400,000 10,400
OAEZ3td It EE &Y
1,600,000 1,600
Oo=EH| 3,200,000& 3,200
03 A= I 20,000 20,000 0
O=30l=EH A5 AIS
20,000,000 20,000
202 04| 13,500 15,000 1,500
01 =LHOHI 13,500 15,000 21,500
o230z L MS Al =X
13,500,000 13,500
203 HR=H] 10,000 11,000 21,000
03 A=A 2= 10,000 11,000 21,000
O=3ll= & MEIE YR
3,000,000 3,000
oZZEE A Y LRFA
3,000,000& 3,000
OdEd & sf=d HIRFA
2,000,000& 2,000
Ousdyd # SN YRR
2,000,000& 2,000
301 EetE2 N = 9,000 9,000
11 #AIAHIXIE S 9,000 9,000
O=2=HH A8 A3E Hal
9,000,000& 9,000
308 XtXIEMSO0IE 50,000 50,000
18 S [2S0tHer 34 A A A 50,000 50,000
OZshHAAIM 22H 50,000,000 50,000




_,_

2L 23S
M 23t0s &

¢ 2oz A (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
ZtAIE S 2| 162,550 283,686 A121,136
101 eI t| 60,970 59,486 1,484
M IIRINZ2Z2XsSEs 60,970 59,486 1,484
o a2er2t D222 2124H|
78,8303 x2F x222 x 12 41,649
OSARER JIZHIZT FE4L
78,830 »2B+52U « 12F 9,466
OgtMAaZst2 JI2ENZ2Z2 XA Al2Eel=Y
14,7903 +=2F+8A| 2H+12F 2,840
oUMaZer 2 JI2ZENZ 2 402
53,955,000%*13% 7,015
201 Ler2 | 51,580 64,200 A12,620
01 Al 22| 13,180 16,200 23,020
ogstgH| 10, 160, 0002 10,160
ouMRsE 28 25 7Y
1,920,000& 1,920
OLINEs WA 2Se s HAAR
1,100,000& 1,100
2 SE=29| 38,400 48,000 A9,600
0322 ¥ HA 16,000,000& 16,000
OH = I 6,400,000& 6,400
OArAE2xLlH 16,000,000 16,000
401 A& BIZ 200 50,000 70,000 220,000
01 Al&Hl 50,000 70,000 A20,000
O=stNd=E B & FH|
50,000,000 50,000
ZS0l =g AL RIA 550,200 634,000 83,800
307 gI2tol ™ 505,200 599,000 A93,800
02 QIZHBAAIEER 395,200 401,000 5,800
O3HE3s &4t & N9Zeil=e =4
27,000,000& 27,000
OALEALE "0H" S2%3l 10,800,000 10,800
OAtE =AM 2l X 36,000,000 36,000
OAIE = Xt 7,000,000 7,000
OSI=0BAEAIXNE 2301 Zdl K&
2,000,000& 2,000
OFI=30I1=83l AIEAIXISE HIIH
6,000,000& 6,000
Ol =0 K& 10,800,000 10,800
OAESAH Al XI& 4,500,000& 4,500
OARRIEII S| MAEAXR EAS X
2,000,000& 2,000
OZ<HAIZM &It K& 6,000,000& 6,000
OAIEZ& &2t 3Hl XA
2,700,000 2,700




FA: 2eMS
mH: 250le NE(SHUBY/2E0S)
telr 23tz &S CERE)D)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ogel2=0tg XN# 90,000,000 90,000
O EAH UHg=22tAl 4,500,000 4,500
Oy AEB(E=R) =2 HEM ¥ sKi2el
ddl X3 5,000,000 5,000
o=t XY Fobte Oots= 349 X
4,500,000 4,500
Olt==2s &2t3H| N&H 2,700,000& 2,700
OBIEEFR &tac| ==t N&E
2,700,000& 2,700
OME SdEEH tlegs 3l XA
9,000,000 9,000
OME HgEEd tlsgs 34l N3
13,000,000 13,000
OAMEAIZUES Fol=3d ZHl N&
4,500,000 4,500
OArdEtAcI DY HD| 2H3| Zdl XY
2,000,000 2,000
OZclwel 88 =9 tlsd 9 FHl N3
5,000,000& 5,000
OANEAIE ZHl X2 7,000,000 7,000
OAEX=3 =M - Ordlst MAl X2
2,700,000 2,700
OX=M 9 ZHl X2 9,000,000& 9,000
Od= gdelll tHal ZHl A&
9,000,000 9,000
Ost=E0lstgsl AMEXIR HAIS 28| X
el 4,500,000 4,500
OS=ZMUES AIEXIS 3I#E ZH| X
4,500,000 4,500
Ost=dSHASHE 2 MEXNT AEH &
s2l g4l A& 4,500,000& 4,500
OnASESUHN B8l X
4,500,000 4,500
Ozl HSEa dsAL
10,800,000 10,800
Od= E3& HAEIE 45,000,000 45,000
oti=dsH=sY 3 Hl N
4,500,000 4,500
OAt&ol=HICHEA ROobts H28243 &
Bl XI& 4,500,000 4,500
A HEAY 27,000,000 27,000
03 PIZHNEE 22X 45,000 50,000 /5,000
OBr=0E AIEAIXIZE 22| X2
45,000,000 45,000
04 QIZIHAIAIH E X 65,000 148,000 /83,000
O=22 HIESW =H gHl X2
27,000,000 27,000




M 2SI
3. sz (2L 2Z/280=)
telr 23tz &S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ogg €l stitd =M gHl A&
10,000,002 10,000
oste § CGaER ZY A
10,000,000 10,000
O=S oiH =H | N
18,000,000 18,000
308 XXM SOIH 45,000 356,000 10,000
08 W=J|20CHe 2 45,000 36,000 10,000
Ostl 2HAER 2F XA
45,000,000& 45,000
ME2HHE X 2,815,332 2,220,430 594,902
306 E= 1,815,132 1,793,430 21,702
01 £g= 1,815,132 1,793,430 21,702
OAMEESME EGH= 1,815,132,000& 1,815,132
308 AHXIHMSO0IA 1,000,200 427,000 573,200
13 SIS0t 4 A AS A 1,000,200 427,000 573,200
ON262l AZE23HM M2
600,000,000 600,000
OAId EE 2I0IEA JHZ
300,000,000 300,000
OAtdlI=2 29 60,200,000 60,200
OAME2= S A2 |2
40,000,000 40,000
EselTcta s 40,000 25,000 15,000
= 20,000
Al 20,000
307 el2to| & 40,000 25,000 15,000
S 20,000
Al 20,000
02 QB AHANEEX 40,000 25,000 15,000
OAIE 232 2otaiAL X1 &
20,000,000& 20,000
[ 10,000
Al 10,000
OZEAZ ZAF XIE 20,000,000 20,000
= 10,000
Al 10,000
ZStAIEAIE 461,700 370,000 91,700
307 212+01™ 461,700 370,000 91,700
02 QB HANEEX 151,600 140,000 11,600
o=zt 29 K& 50,000,000 50,000
OAEsHRAx 2 XIJ
10,000,000 10,000
O7 A Mzl K& 60,000,000 60,000




2A:

=

FoHS 1

U 2o0lE IS (SHATVR/25H0S)
telr 23tz &S (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZ=OSHEEH &0t A
13,500,000 13,500
OZd H2d s ZAlial #IF X&
2,700,000 2,700
Od&g AtdHl Heldl X2
5,400,000 5,400
oOxE=E AGH XN& 10,000,000& 10,000
03 PIZHHEHE 22X 310,100 230,000 80,100
OAESE 29| N
65,000,000 65,000
OAtE 23t &2y 212AH| X
190,000,000 190,000
OAMEZHE AlEEsSHl X3
55,100,000& 55,100
L2 & HHa2sre A2 45,000 36,000 10,000
= 10,000
Al 35,000
307 @I2to| & 45,000 35,000 10,000
== 10,000
Al 35,000
02 LB HANHEE 45,000 35,000 10,000
o aEZsHl & Sa2sre X2
45,000,000 45,000
= 10,000
Al 35,000
A2 d= Eael, 1Y I3HUE 38,000 45,000 27,000
= 8,000
Al 30,000
307 @20l & 38,000 45,000 AT7,000
s 8,000
Al 30,000
02 LB MAHEE 38,000 45,000 A7,000
o= =27t U2l ¥ ==l SHIX
& 38,000,000 38,000
& 8,000
Al 30,000
S EOIN IR 60,000 80,000 /20,000
307 el2tol & 60,000 80,000 /20,000
04 QIZIHAIAME 2 & 60,000 80,000 220,000
O&HEOIIMN JI2M ZHl X
60,000,000& 60,000
828 =M g4l A 60,000 40,000 20,000
[ 10,000
Al 50,000
307 lztol & 60,000 40,000 20,000




A EstM=s

3. sz (2L 2Z/280=)
=?el: Estiles &8 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 10,000
Al 50,000
04 DIZHHAFAII X 60,000 40,000 20,000
ozzed =X Zul X
60,000,000& 60,000
= 10,000
Al 50,000
Zot0llz= S2A2 & A 20,000 40,000 220,000
307 @I2to| & 20,000 40,000 /20,000
02 QB AANEER 20,000 40,000 /20,000
O=2zles S2AIY & HEH]
20,000,000 20,000
SE23H0I2FAIY 921,830 794,970 126,860
Jl 653,791
== 80,412
Al 187,627
307 212+01& 921,830 794,970 126,860
Jl 663,791
=S 80,412
Al 187,627
05 glt?(& = 921,830 794,970 126,860
Osg=Es0lESdAME 921,830,000 921,830
Jl 653,791
= 80,412
Al 187,627
Eotaty 2| 4,000 4,600 2600
201 et 3| 3,400 4,000 A600
01 At22t2l] 3,400 4,000 2600
O=2srsSY Ll u=s M M
2,500 x200% 500
O=2A7SEL ==Atg E2= MM
1,000 *500 500
O=EANYI| 2= =H dhs
2,400,000& 2,400
301 22N 600 600
14 JIEt2 8= 600 600
CoHHESEY YA WS IA =g
150,000& x2&*12] 300
OANLM=Y ST W= A =&
150,000& x2& *13] 300
SN=Y HEC=EAIY M2 g (HEA 490,000 490,000 0
2)
401 AIEHIZ SR THYI 490,000 490,000
01 Al&HI 490,000 490,000




SN 28HSD
3. sz (2L 2Z/280=)
=?el: Estiles &8 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSH22 MESIC=E SIAR (HE2BHIE
x4d)(2-2etH) 490,000,000& 490,000
Zstilzal 2 29 1,743,434 1,678,000 65,434
Zstol=sl 2 24 1,743,434 1,678,000 65,434
308 AtXIEMSOIE 1,659,434 1,513,000 146,434
183 S| 2SO Z&HASAIE 1,659,434 1,513,000 146,434
O=2zi=3z2 2 22
1,659,434,000& 1,669,434
405 AHAHE S 84,000 84,000
01 AL =S F=HI 84,000 84,000
OSRUZ LE20IE 7
84,000,000 84,000
23 EE (23t 22/23H) 2,466,200 3,205,100 AT738,900
= 494,900
= 405,480
Al 1,565,820
ZH 2& 2,466,200 3,205,100 A738,900
= 494,900
= 405,480
Al 1,565,820
FE2N ds X&H 44,400 44,400 0
= 22,200
Al 22,200
301 EtE2 NS 44,400 44,400 0
=S 22,200
Al 22,200
14 0Bt 2as 44,400 44,400 0
ORg=2a M dsu=t| 44,400
o E2RE 9,000,000& 9,000
S 4,500
Al 4,500
olls 2584 11,400,000& 11,400
= 5,700
Al 5,700
olls Exr=EX 24,000,000 24,000
< 12,000
Al 12,000
SHESN SHEAE X 4,200 4,200 0
= 2,100
Al 2,100
307 el2tol & 4,200 4,200 0
= 2,100
Al 2,100




SN 28HSD
M 2o EE (3L 2AZ/23H)
Cel: 23 BE (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
02 2IHBHAIHE £ 4,200 4,200 0
OFE=22t SHEAHH XA
4,200,000 4,200
= 2,100
Al 2,100
=IHIE2=H & SEE3M 234 X 522,000 522,000 0
= 365,400
= 78,300
Al 78,300
401 AlEHIZ S 0HbI 522,000 522,000 0
= 365,400
= 78,300
Al 78,300
01 A&l 522,000 522,000 0
ONBSERE EX0HY
500,000,000 500,000
= 350,000
= 75,000
Al 75,000
OAIE SRl BIILS 23
22,000,000 22,000
= 15,400
= 3,300
Al 3,300
SXNE2eH E4F4| 485,000 804,000 /319,000
S 242,500
Al 242,500
401 Al HIZ R 0HHI 485,000 804,000 /319,000
S 242,500
Al 242,500
01 A&l 485,000 804,000 /319,000
OAIE 2AHESAHA EXI0HE
210,000,000& 210,000
= 105,000
Al 105,000
OAME CHEA 2T FHIHISA
130,000,000 130,000
=S 65,000
Al 65,000
OAIE U2dl=¢e L=LAt
70,000,000 70,000
= 35,000
Al 35,000
OAd HEleld 42 B
75,000,000& 75,000




SN 28HSD
¥ 23 2E (2L 2E/28H)
Cel: 23 BE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 37,500
Al 37,500
dSgtuEs ds 2& 49,000 49,000 0
= 14,700
Al 34,300
307 gl2to| & 49,000 49,000 0
=S 14,700
Al 34,300
02 QB HANEER 49,000 49,000 0
OZsUA 2H(MEED, 228 W)
22,000,000 22,000
< 6,600
Al 15,400
O&uw MS23t HASAS(AEEn, 2L
w) 27,000,000& 27,000
= 8,100
Al 18,900
Sl N3 23 2E M 162,500 197,500 /35,000
2 65,000
= 16,250
Al 81,250
307 @20l & 162,500 197,500 /35,000
= 65,000
= 16,250
Al 81,250
02 2IZHBYAIHE & 162,500 197,500 /35,000
O M 2= 2SAr 162,500
o AEE W 162,500,000 162,500
= 65,000
= 16,250
Al 81,250
o 2+ & | 614,000 450,000 164,000
101 21A4H| 50,000 30,000 20,000
04 JIZtN2 2N S 2 50,000 30,000 20,000
Od=2H 50| HHEAN HE2E
20,000,000& 20,000
QJIEt Estmal 29 SF Y]
10,000,000 10,000
ONSHTIZLE sA=Y| 29
20,000,000 20,000
201 fet=3| 72,000 50,000 22,000
01 AtR2t2|HI 25,000 20,000 5,000
OHXZH AAISEA Xz
25,000,000 25,000




SN 28HSD
¥ 23 2E (2L 2E/28H)
oel: 2 22 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 47,000 30,000 17,000
08&88= 12,000,000 12,000
OAIZ &= X 35,000,000 35,000
207 ARl 70,000 70,000
01 ARSI 70,000 70,000
Ol 2atmit =2 XA B9
50,000,000 50,000
O23tmtt B2 2EI= M
20,000,000 20,000
308 AXIHMSOIA 70,000 70,000
18 SIS0t HAS A 70,000 70,000
O2ztm4t SSHHIHE 24
70,000,000& 70,000
401 AIEHIZ SR OHYI 362,000 230,000 122,000
01 Al&HI 362,000 230,000 122,000
O2zt7a7Y W M= X ==3H|
100,000,000 100,000
O=2=t74S W A€ &I
150,000,000 150,000
OCHEAN 2ot A= AlE FHI
22,000,000& 22,000
OddSH =FEH| 80,000,000 80,000
SEESN N2 & 2el 274,300 364,000 /89,700
301 EtE NS 24,000 24,000 0
14 IIEt2 83 24,000 24,000 0
O=IINEREZ3 M d==tu X2
24,000,000& 24,000
307 @120l & 221,800 311,000 /89,200
02 QItEHAEE X 85,000 169,000 AT74,000
O MU Ml X 10,800
SZ\ skl 5,400,000 5,400
os 5,400,000 5,400
Ogu AlZAt na 23 18,000
o AtEE 9,000,000 9,000
ozt 9,000,000& 9,000
ogw JIZ2H e 5,400
S2\rskmi 2,700,000& 2,700
oz=gfghl 2,700,000& 2,700
OEAL Ml XI& 8,100
oA AN 2,700,000 2,700
oA 2,700,000 2,700
o X FHA 2,700,000& 2,700
Ot HEM Ml K&
2,700,000& 2,700
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SN 28HSD
¥ 23 2E (2L 2E/28H)
Cel: 23 BE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 96,000 96,000 0
= 36,600
== 10,980
Al 48,420
M ORNZZ2NSE S 96,000 96,000 0
Of+us2 20sWFA BHIXIAI 96,000
SANMPEESM HruSs2
64,000,000& 64,000
= 24,400
< 7,320
Al 32,280
olt=ZYotae| Mxns2t
32,000,000& 32,000
= 12,200
& 3,660
Al 16,140
HSAE SMHAAYE FRE2=AHE 19,800 24,000 24,200
= 9,900
& 4,950
Al 4,950
207 ARl 19,800 24,000 24,200
= 9,900
< 4,950
Al 4,950
01 H7ESHI 19,800 24,000 24,200
OHSAME YMAIAEY ST SLAY
19,800,000 19,800
= 9,900
== 4,950
Al 4,950
CIXIEANE2SHHA 22t 150,000 100,000 50,000
308 XXM SO0IH 150,000 100,000 50,000
18 SIS0t oA A A 150,000 100,000 50,000
OUXEAMZSHE &2t
150,000,000 150,000
HEUE (3L 2Z/HK) 13,719,640 13,739,867 N20,227
7l 2,517,380
= 401,329
Al 10,800,931
dEHE |54 1,964,057 2,328,864 A\364,807
Il 727,380
= 51,329
Al 1,185,348
NSete dEHsUal N2 162,000 165,000 13,000




2A: ZAHS U
M NSTUE(2SL2Z/HS)
ool dEHs =4 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
201 Let2| 44,000 45,000 21,000
03 At2ZH| 44,000 45,000 A1,000
o8 o s 2JUs X
35,000,000& 35,000
oXte MEH=sHal XI&
9,000,000& 9,000
307 212+0| & 108,000 120,000 A12,000
04 QIZFHAIAII B 108,000 120,000 A12,000
0ESE MBHSH X2
108,000,000& 108,000
M= X 88,380 230,880 A142,500
307 QI2Hol M 88,380 230,880 A142,500
02 QIZHBAAIEE R 88,380 230,880 A142,500
odEME S8 ZHIPLHl XA
4,500,000 4,500
OMEBRSNEX HSH X2 (MM
83,830,000& 83,880
MEHSEES 4 N 45,000 50,000 5,000
307 212+01 A 45,000 50,000 5,000
02 QIRHHAAIHE X 45,000 50,000 A5,000
OAIEA M= U MEMSUHS X2
36,000,000& 36,000
OE=E daH=sls &4l XN&
9,000,000& 9,000
MEXE T2 ) XA 13,519 14,411 ABR
= 2,633
Al 10,886
307 2I2+01 A 13,519 14,411 N8R
& 2,633
Al 10,886
02 QIZHBAAIEE R 13,519 14,411 ABR
OMEXs T2 2% K&
13,519,000 13,519
T 2,633
Al 10,886
METFWA 14,206 15,154 AN948
= 2,916
Al 11,290
307 212+01 A 14,206 15,154 A948
& 2,916
Al 11,290
03 QI HER2GHIEX 14,206 15,154 A948
OMEHSTY 2% X
14,206,000 14,206
& 2,916




SN SHHSD
M NSNS (2L2H/HR)
ol dENE |4 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 11,290
o M=ssotel gs X 4,620 5,970 1,350
== 2,310
Al 2,310
307 212+01& 4,620 5,970 21,350
< 2,310
Al 2,310
03 2IIHHEHE2SHIEx 4,620 5,970 1,350
O HES0tel 25 XN
4,620,000& 4,620
= 2,310
Al 2,310
JHeIH=s &4t Ad 62,800 70,500 NT,700
307 21201 & 62,800 70,500 AT7,700
02 QB HANEER 46,600 52,500 25,900
OZd ool dEMIUa &8 24 X2
13,500,000 13,500
OZE Al Ho{e! S =l =& 3
A& 2,000,000& 2,000
O3y Al Zoie! &+Hal 28 3dl K&
1,000,000 1,000
OZg =02l 22 ia =& 3H| &
2,000,000& 2,000
SO0t =eilisl 28 ZH XA
1,000,000 1,000
OX= ZOHY! HAAE= (3 && 2H| X
! 1,000,000& 1,000
O&= =0t2l HOIEZ Uzl E& ZH| X&
1,500,000 1,500
Ol HOIZ R STE HLISA 29 X|
o 9,000,000& 9,000
ogz2die s+ MUSA 28 XA
4,500,000 4,500
OHMAME FAZ= ZHIPHl X
3,000,000 3,000
0Zg =012l MU &8 FHl X2
3,600,000& 3,600
O &= HL<A 28 A
4,500,000% 4,500
04 QIZIHAIAIH E X 16,200 18,000 21,800
OZ 0 EMok= AR A28 201Ul X
& 9,000,000& 9,000
OAIEAIZE & Z0ie 202 X
7,200,000& 7,200
2ot WEHMS A=A BHX 214,816 213,6% 1,120
Il 107,408
Al 107,408




SN 28HS D
M NSNS (2L2H/HR)
ool dEHs =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
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